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FOLLOW Set

Right-Recursive CFG:
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FOLLOW Set: Algorithm

When ε ∈ FIRST(βk)
   FOLLOW(βk-1) = ?

FOLLOW(βk) = ?

When ε ∉ FIRST(βk)
   FOLLOW(βk-1) = ?
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A → β1β2β3

Case 1: ε ∉ FIRST(β3), ε ∉ FIRST(β2)
+ FOLLOW(β3)
+ FOLLOW(β2)
+ FOLLOW(β1)

Case 2: ε ∈ FIRST(β3), ε ∈ FIRST(β2)
+ FOLLOW(β3)
+ FOLLOW(β2)
+ FOLLOW(β1)

Computing the FOLLOW Sets: Trailers
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FOLLOW Set: TracingRight-Recursive CFG:

First choose rules whose 
LHS is processed.
Then rules whose 
RHS ends 
with a terminal.G, F, E, T, T’
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Lexical Analysis
*you don'tneed tostay trace

-slide 40 *(NFA -> DFA)

&slide 57 (minimize DFA)

↳ slide 62 (NextWord ( ↳ slide 82 (table
↳slide 61 (BUParse) L) slide 175 (goto)

Syntactic Analysis 2slide it (closure) - Slide(Bulid)
&slide3D (TDParse) Ls slide 44*(Get FIRST)

-> slide 38 (Remove(R) 4 slide 49*(GetFollow


